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PART -1

CHILD DEVELOPMENT AND

PEDAGOGY

The area of physical development is :

Neural
Memory
Motivation

Adjustment

Who established the first psychological
laboratory ?

(A)
(B)
©)
(D)

Galton
Kurt Lewin
Wundt

Watson

As per NCF 2005 errors are significant

because they :

(A)

(B)

©

(D)

provide a way to the teachers to
punish the children

are an important tool in classifying
students into groups of “passed and
failed’

provide an insight into the child’s
thinking patterns and help to find
the solutions

provide space for discriminate
among the students

HT -1

o1 farehTd wa FTeTT g

TR farm s a9 § -

(A)

(B)

©)
(D)

gHed
wfa

AR
AR

JH ARSI FHITIE shi €1 fehgq &t 2

(A)
(B)
(C
(

)
D)

e

s
EICaE]

NCF 2005 % 3T8R Ffal Hewqul § Fife

q:
(A)

(B)

(©)

(D)

Torerenl =1 BT 1 gfed w1 AR
IR T €

T HEEqUl Uk § TSR g1 Bl
% Sl IR STl % wE H siter S
T |

etk ! fIaR JoTett &t iagfe T_M
I ¥ SR T YT H § HeHE
AT

BEI & 99 YeuE & fau e ThE
-
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A pigeon is trained to peck at green light.
Now it peck at all lighted spots. Itis a
case of :

(A) stimulus generalization
(B) response generalization
(C) generalization gradient

(D) discrimination

Emotion is expressed through :
(A) Language’

(B) Gesture

(C) Facial expression

(D) All of these

The standard visual gestural sign
language learned by the deaf have many
features is common with :

(A) visual vocal language
(B) stimulus vocal language
(C) auditory vocal language
(D) local vocal language

Motive to keep contact with others is
called :

(A) dependency
(B) self assertiveness
(C) mastery

(D) gregariousness

T FHR B THR W =" 7 & A
gioifera foran o ®1 o190 afg o vt T &%
T fog WA ORaT &, A ag s e

(A) A G
(B) Widfshan WHIRITHIOT
(C) HHRITHTOT Jerur
(D) fadg

Waﬁaﬁaqﬁmﬁaaﬁmﬁ%
(A) T g

(B) ®EWE g

(C) =X & vE sifvaafe
(D) 3TH Oft

SftR el g HiE WM Al 9w 95
?:

(A) I @R |

(B) SETH WG T

(C) U HBR Il

(D) ¥rE @R

TEI ¥ W ST TE ¥ AT S
FEAT © : :
(A) fasiar

(B) T Ear

© 7=

(D) Wiy
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10.

11.

A child’s mental age is 12 years and actual

age is 10 years. What will be his

intelligence ?
(A) 110

(B) 100

(© 120

(D) 83

“Intelligence is a composite of seven
distinct primary mental abilities” was
suggested by :

(A) Gardner
(B) Sternberg
(C) Binet

(D) Thurstone

Absenteeism in the class can be minimized

by :

(A) telling students that it is bad to be
absent in the class

(B) punishing the students

(C) ignoring the fact of absenteeism

(D) teaching the class effectively and
regularly

The process that man learns to behave in
relation to human being is the process :

(A) Socialization

(B) Language development
(C) Individual value

(D) Social Maturity

10.

11.

T o= %! AHEE g 12 IR arRatas
3g 10 99 ¥, <t SU! JfgaAtsd = Rl 2

(A) 110
(B) 100
(C) 120
(D) 83

T FETE

el H orgafeafa o A fowa S W €

(A) BHEI G T Fe fF wan 7 orgufied
EAIAE

(B) BT =l gv€ faan ™

(C) orqufeafd 3 q2a #1 STaEl L

(D) &l I STeRA T8 IHIeYUi &9 § qgra
EiE}

5 ufsran @ =afa wa & faw wer
BT FIER HT HiEd €, 98 THa €

(A)  HHSHT
(B) e fard
(C) Safses qea
(D) IS qRgsedr
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fepeir stereen o =i fwtor O iy sveree Haifka

12. The stage which is related to character 12,
formation in the teenage stage is among T AaR:
the following :
(A) Stages of holding traditions (A) TS i YR FA HY TG
(B) The unmanifest self-consciousness (B) SMUREIT -1 STaee
state
(C) The basic self-consciousness state (C) STURIH - STael
(D) Self-centered state (D) ¥-fga aferen
13. Educational equality is a : 13. @ﬁw T E
(A) fundamental right (A) T Afyer
(B) a customary right (B) Teh YYFTd AfUhR
(C) alegal right (C) TH wIA SIHR
(D) a directive principle (D) Hifa Fewes fagr
14. Under the RTE 2009 the child right  14. RTE2009 % @&d U3 H d1cT LR TRET0
protection body in the state is : TeqT T :
(A) SIERT (A) SIERT
(B) SCPCR (B) SCPCR
(C) SDMC (C) SDMC
(D) None of the above (D) SW H W =g T8l
15. The stage of personality development is : 15. =fHRa fose &l ofaeen § -
(A) Learning and Growth (A) ST wE gfg
(B) Personal Study (B) eAferTa eI
(©) Therapeutic Studies (C) SUUNHS: AIA
(D) None of these (D) 379 9 % &l
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16.

17.

18.

19.

A child may have hearing impairment  16.

if :

(A) he comes nearer to the speaker
during conversation.

(B) he speaks loudly unusually.

(C) he generally says ‘please repeat’ to
the teacher.

(D) all of the above.

The body size increases, because of : 17.

(A) Physical and dynamic development
(B) Emotional development

(C) Cognitive development

(D) Moral development

The tests where use of written words is 18.

involved are called :
(A) word tests

(B) written tests
(C) verbal tests
(D) language tests

Individual learners differ from one 19.

another in :

(A) Principles of Growth and

Development
(B) Rate of Growth
(C) Development Order
(D) The
development

general potential of

& 91 g A e @ @R Ak

(A) i % T TT T H T A
S

(B) atfersha o€ SIX © Sie B

(C) Trarer & o7 WMR=IGAT  FH91 IH: Tl
FEA T |

(D) ST ||

IR % TR | g B 8, M HERU Y

(A) RIS iR T fawm
(B) WomeHe foshm

(C) WA famm

(D) Hfdw fawma

we e fafiad wsl =1 e s s
%,Wﬁ%:

(A) mfsser e

(B) fafea e

(C) dHifas Tdieqo

(D) 1 gteqor

EIESUERN L Col-c i R |
IEE RS

(A) s T foww & fagial

(B) T #:t
(C) Tohrd A
(D) Toreptd <kl 9HT e
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20. The development of the child is the result 20. T 1 TaahTd S9eh! TRom €
of :
(A) Inheritance (A) aETgHA
(B) Environment (B) d@rdER
(C) Inheritance and interaction of the (C) dYTIehA o ATAIERY i 3T Tsham 1
environment
(D) Economic factors (D) onfefe HrRa =
21. According to which psychologist 21. fohq FHERS & AR *‘ fo@ T Had
“development is a continuous and slow SR it wfsren &2
process” ?
(A) Kolesnik (A) hreEfTes
(B) Piaget (B) fr=
(C) Skinner (C) T&w
(D) Harlock (D) ®&Th
22. In the teaching of any subject, a unit 22, Tordl fawa & freor & ded ¥t 3 i
means : FqE T
(A) A part of lesson plan such as (A) I3 A1 T T 9T S frara 6l et
introduction of assignment ftrem
(B) The portion covered by the teacher (B) RN STafy § fierh gRT UgRI T |
in the class period
(C) A topic which may require several (C) Tw yHw S8 Q@ % & fau =
lessons to be completed T3l ol STEvIHRAl & Hehall §
(D) None of the above (D) SR § | HIE Tl
23. Childhood occurs : 23, SCATEET B § :
(A) wup tob5 years (A) 599 7%
(B) wup to 12 years (B) 12 9% d%
(C) wup to 21 years (C) 21 ¥ T
(D) none (D) =7 off 7
SPACE FOR ROUGH WORK / T% 1d & & sre
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24. People are appropriately regarded as 24,

mentally retarded if they attain IQ’s
below :

(A) 90
(B) 70
(C) 100
(D) 120

25. The stage of stress and anger is : 25.

(A) Infancy

(B) Childhood
(C) Adolescence
(D) Old age

26. Maturity is related to : 26.

(A) Development
(B) Intelligence
(C) Creativity

(D) Interest

27. The 3 primary laws of learning ‘law of 27.

exercise’, ‘law of effect’ and ‘the law of

readiness’ are given by :
(A) B.F. Skinner

(B) Wolfgang Kohler
(C) Edward Thorndike
(D) Ivan Pavlav

Torel) =afer w1 anfuaRiies ®9 9 AMfEs digd
el S A SYH! 5 Al FH T

(A) 90
(B) 70
(C) 100
(D) 120

e 31T hIY Y STERen ©
(A) SreETEEn
(B) AT
(C) T
(D) g

o 1 TaY ¥
(A) o

(B) s

(C) YSHTHRA
(D) ¥4

afer & o aRfue fam - e
fram’, quma 1 fem’ ofR e &1 frem
g e

(A) #.Th R

(B) ITHIT HIGR

(C) TedE IHERH

(D) 3 U
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28. Laurence Kohlberg is known for research 28. ENH FHIcTer faehrd & & T 3ie & fog s
in the field of development : ST
(A) Cognitive (A)  GIFATHS
(B) Physical (B) WRift=
(C) Emotional (C) HIEATH®
(D) Ethical (D) EIRCD
29. Which of the following is the best 29, fH3IRI &1 G &% AT 1 G =31 I
incentive for the control of teenagers ? frefafas 9 s 82
-(A) Rationalization (A) 'ng:RIEhTUT
(B) Projection (B) w&UW
(C) Refinement (C) wmE=
(D) Suppression (D) <HA
30. Anintelligence test that predicts how well 30. T dfg Them S s afasr # &
you will do in future is an : %l Yehfd 1 Aforamlt s §, s §
(A) adjustment test (A)  GEESH Theo
(B) anxiety test (B) gf¥=iar qdegrm
(C) aptitude test (C) il wam
(D) achievement test (D) Sqafsy Ferr
SPACE FOR ROUGH WORK / T% &r& & ferdl s1e
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31.

32.

33.

AT - 2
|qrHT= et

fre=ifera o 9 HelvaTe GoamY s 1 =94
T |

== feu 7w wssl § qfmmoEiees fommor
v fore ferrea § go § 2

SERUl & HEEH  ER &l § W %
fopa 48 €72

34.

35.

36.

37.

C

“orei U T gereR o T €
(A) T= amgr
(B) RS B
(C) IohEm B
(D) ¥ehTee B

= feu o Yy wsd] & 3 Gy fasse feu
e T O R v W dfy fosee a@t
T E?

(A) R - f: o+ T

(B) oTRRIA - 38 + TA

(C) wE=A - "eq + B

(D) dSIgSt - A +

Frfafea & ‘qefa’ vt 1 T qafger=
&g AT
(A) TH<
B f&=
LICIE]
(D) gt

Teifena Qi el § A9 |ras

_ IR T ©

(A) GH
B) ATSISieT
) SEHRI

(
(
( IR ESS

SPACE FOR ROUGH WORK / T% @& & fod Sg
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38.

39.

40.

41.

SR STTETAT h HEd ©
(A) TEHRH
(B) T3
(© =
(D) &wmH

freifera o =61 o w1 gfeedT gue §2
(A) e

(B) i

(©)

(D) firewed

frfafea & =F @1 oref ‘gor’ v w1 e
g7

(A) =i W H TH QA A

(B) el 3R wiea =t fran 3N At &
(C) < vl * ot #t yff

(D) I I

H I H AR F G F faw agred
=% ! R T ot e’ % forn et
g

(A) TE H T B SR F G
(B) Hfea wrA % forw @iy =t @t
(C) omE =t Tzt iR TR awen
(D) ST H 9 HE T

42,

43.

44.

AR % I AT HI, GH TR Y I F
I H FS HE T B, N F &2

(A) ST
B) fagm
(C) sfafa

(D) 3TreRiE

fre=ifera & snfamees g v ¥
(A) &
(B) wHA
(©)

(D) W

fretifera & @ P ToIg = WM TR
HTqeT < WY 3Tfues dar € 2

(A) oTEe
(B) =99
(C) =

(D) ®R
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45. TG % oMUR R ‘dae’ ws fFwR
AAE?

(A) TEH AL
(B) TEHA K
) faeuit o=

(D) TR TR

46. fTrefafaa # &l sl g
(A)
® o
© ™
(D) e

47, ‘weft ¥ <l T % iR femm & i - IR
FIIHR T :

(A) INTCH T
(B) STENTRHS ST
(C) Torarg =t
(D) Tererfed ar

 3mfeq
T 90 ¥ gaF % o # faw 7w faw ¥ vl
1 gt fpan 8, T ® - Trifereeron | BT
sir Tfargeror e FreEeE TS a U § 1 3R
=R T % iR SeTd Teq Al STeed rsd
TF AT ¥, T € 96 e § W@ =ife R
“atgfRAEE TR g AT o weefh
A T TR e BTSN § Seuifad faer
fiferii w1 T iR SYEE ¥ SfeR e 3
wared fag % & H & S w9 T g,
T Y 39 WS % STHYH w1 wEeed w@nfd
& fpen < Gean1 TR oft o o Ffed € T
TE fagero 3 STl % Y=IG a3 9 F9
foraR 1 S argHueSe H TR § | el WfesR
S ST O W Y, 9 39 forel R wathd 3R
Fifer et Aot TR AR IR S At
o § T faed | sEe URU 9% gen € TR

f@mﬁﬂmsﬁﬁaﬁﬁwﬁmﬁ

e 8 U 9 $ TH FhR Wredl § o o1
S P = wifererenTelt T gAR S fora 3 feramd
AR FR R T T Y| I WA R 81w
< % G T T & T8 TN ST H EHR ST
o H adaF § 1 o U9 $O U IREER R T,
= 1A T S H e TN < o feh
g | oged § adaH SN sTaEied e
i g ST % HEHR H e g =t
el 3 ik 3 THA S W S| G TR
T T 3 U@ T STl €|

48. 7R S o & foem i &l =i
(A) T o Tsfd TR W@ R
(B) AR W w9 R W T
(C) TR Freri fora i wferenelt & &
w9 Il B
(D) &AW e fod TT R WIE

SPACE FOR ROUGH WORK / T% &td & fo& s

0921/TE-TA/RCE-M

Set - A



49,

50.

51.

52.

TS TR el W TR it B2
(A) ST IE B &
(B) AP % T ¥
Q) T % g G

(D) w1 ¥ eaftE & Tfqydes SR HY
AT 9T T IEE

=1 5 @ % =it sraeen el § ST
- fIehTe it erareen =i § 2

(A) TEY HT A R GHE

(B) foowes wfwEf

(C) Visgraredt 1 fafor e

(D) =W

AT T A e ®
(A) 9 98GR A
(B) & IHH TR
(C) & ITH #E faar &
(D) i« = fHfspa &

e § T foha e & 2
(A) o= ol Tere faamn s )
(B) =it Fater = fen € st £

(C) =i =t Werdl T T&l AN o
1 T o s #1

(D) W H | wiE el

53.

54.

55.

I HEq & efa &9 § w@ifas w9
BT :

(A) G - ST - g - foren

| (B) To@ - we - Ser - g

(C) we - fae - g - e

(D) ST - 9T - foramT - gA

edish | fhaq &1 8 €2

(A) T

(B) =R
© =

(D)

e & ger frem §
(A) TR 1 |
(B) 31 1 from
(C) 9vwE fram

(D) 3w |t
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PART - 3
GENERAL ENGLISH

Read the below passage carefully and answer
the questions 56 - 63 :

I was one of many children - a short boy with
rather undistinguished looks, born to a tall and
handsome parents. We lived in our ancestral
house, which was built in the middle of the
19th century. [t wasa fairly large pucca house,
made of limestone and brick, on the Mosque
street in Rameshwaram. My austere father
used to avoid all inessential comforts and
luxuries. However, all necessities were provided
for, in terms of food, medicine or clothes. .In
fact, I would say mine was a very secure
childhood, both materially and emotionally.

56. The house, where the narrator lived,

was :
(A) a rented house
B) Dbuilt by himself

(B)

(C) built by his forefathers

(D) built by the community

57. The narrator describes himself to be :
(A) tall and handsome

(B) good looking

(C) ordinary looking

(D) attractive

58. Antonym of the word ‘secure’ is :
(A) unsecure
(B) insecure
(C) dissecure
(D) missecure

59.

60.

61.

62.

63.

In the phrase - ‘with rather
undistinguished looks’, the word ‘looks’
isa:

(A) Noun

(B) Pronoun
(C) Adjective
(D) Verb

The synonym of austere is :
(A) Strict and serious

(B) Loyal

(©) Kind

(D) Passionate

The Narrator had :

(A) only one brother

(B) only one sister

(C) no brother or sister

(D) many brothers and sisters

We lived in our ancestral house

which was built in the middle of the

19thcentury. The underlined clause

isa:

(A) Nominal clause

(B) Relative clause

(C) Adverb clause of time
(D) Adverb clause of manner

In his childhood, the narrator was

given :

(A) luxurious things

(B) basic required things
(C) expensive things

(D) inessential things

SPACE FOR ROUGH WORK / T &Td & fordl e
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Read the below passage carefully and answer
the questions 64 - 70 :

The headmaster entered the class with a slightly
flushed face and a hard ominous look in his
eyes. Swaminathan wished that he had been
anywhere but there at that moment. The
headmaster surveyed class for a few minutes
and asked, “Are you not ashamed of coming
and sitting there after what you did
yesterday ?” Just a special honour to them, he
read out the names of dozen students or so, that
had attended the class. After that he read out
the names of those that had kept away and
asked them to stand on their desks.
Swaminathan was among them and felt
humiliated at that eminence. Then they were
lectured. When it was over, they were asked
to offer explanations one by one. One said that
he had an attack of a headache and therefore
could not come to school. He was asked to bring
a medical certificate.

64. When the headmaster entered the class,

he was :
(A) happy
(B) sad
(©) angry

(D) cheerful

65. In the ‘with a

flushed face’, the underlined words

phrase slightly

mean :
(A) washed the face

(B) cleaned the face

(C) red in the face

(D) poured water on the face

66.

67.

68.

In the sentence ‘Just a special honour to
them, he read out the names of dozen
students or so that, had attended the
class’, the underlined word is in :

(A) present tense
(B) present perfect tense
(C) past tense

(D) past perfect tense

The headmaster surveyed class for a few

minutes. The passive voice of this

sentence would be :

(A) Class was surveyed by the
headmaster for a few minutes.

(B) Class surveyed the headmaster for
a few minutes.

(C) Class had been surveyed by the
headmaster for a few minutes.

(D) Class was being surveyed by the
headmaster for a few minutes.

Swaminathan was among the students
who had :

(A) attended the class the previous day

(B) not attended the class the previous
day

(C) an attack of headache

(D) brought a medical certificate

SPACE FOR ROUGH WORK / % &1d & ol smie

Set- A
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69. Swaminathan wanted to be : 72. Remedial teaching is meant to0 :

(A) there in the classroom (A) teach grammar
(B) anywhere in the classroom (B) find what has bean learnt
(C) here in the classroom (C) address gaps in learning

(D) somewhere other than the (D) introduce any new topic

classroom

73. The sequence for teaching language skills

70. Antonym of the word ‘ominous’ is : should be :

(A) threatening (A) Writing, Speaking, Reading,
Listening

(B) bright - . .

riting, Reading, eaking,

(B)thRngpkg

(C) menacing Listening

(D) sinister (C) Listening, Speaking, Reading,
Writing

(D) Reading, Writing, Listening,

71. Language is a habit. This means : Speaking

(A) Language is acquired through rules

(B) Language is acquired through 74. Multimedia materials are used :
regular use (A) to replace the teacher.

(C) Language learning happens (B) to aid teaching and learning.

through memorisation
(C) only for teaching.
(D) Studying a language is the way to
acquire it ‘ (D) only for learning.

SPACE FOR ROUGH WORK / T & & for@ e
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78.

79.

80.

Evaluating language proficiency includes
evaluating :

(A) the skills of listening, speaking,
reading and writing

(B) speaking in different contexts
(C) vocabulary and grammar only

(D) grammar only

Language skills are best learnt by :

(A) learning all rules of speaking.
(B) using them for communication.
(C) developing mastery in grammar.

(D) developing a wide range of
vocabulary.

In a diverse classroom it is best :

(A) to use a wide variety of teaching
strategies.

(B)  thatall students should be asked to
learn from teacher notes.

(C) to allow students to learn on their

own.

(D) to teach every student according to
her/his learning strategies.

SPACE FOR ROUGH WORK / T% @18 & a3 sg

75. Learning of Grammar should be :
(A) preceeded by listening, speaking,
reading, writing
(B) integrated with listening, speaking,
reading, writing '
(C) preceeded by learning vocabulary
(D) independent of all aspects of
language learning
76. We our mother tongue.
(A) perfect our grammar before we use
(B) memorise
(C) learn
(D) acquire
77. A language teacher should
the learner communicates in the target
language.
(A) not allow errors while
(B) tolerate errors while
(C) check every time errors are made
while
(D) assure that all errors are removed
before
Set - A
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81.

82.

83.

PART -4
MATHEMATICS

Dhairya and Hardik work together and 81.

complete a task in 12 days. Dhairya alone
can do it in 14 days, then Hardik alone
will do the task in :

(A) 90 days
(B) 84 days
(C) 80 days
(D) 95 days

Which of the following statements can be 82.

verified only by empirical method ?

(A) Water boils at 100°C

(B) Peahen delivers her eggs in and
around the September

(C) 12is completely divisible by 4

(D) The sum of two odd numbers is

always an even number

What makes mathematical operations 83.

casier, faster and mechanical ?
(A) Abstract circumstances

(B) To introduce new problems
(C) Symbols and algorithm

(D) Estimation

T -4
wfuTa

8t o wifder a1 T HT T TH HE
12fe 3 ol @ &1 8 sk 3§ FE H
14 f 5 o e &, o e B SR FH
1 quf T H W ;

(A) 90 f&
(B) 84 T
(C) 80T
(D) 95 &

9 fw Y FRG HUR S T H FE
=1 St Fact ST Tl | i S Tl
??

(A) Tt 100° SREEE W I €

(B) Tt e 3% STTH-T i 3t R

©) 12,4 @ via: frnfea g

(D) < fowa wEmsl H A T Th
He Bl B

iRt SfETST Rl S, IS S T S

SPACE FOR ROUGH WORK / T &4 & faa sE
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84. “If we know to cook a particular pulse  84. ‘'3FR &H T WE & a7 YHMT Y %, a
then other pulses can also be cooked by T T8F 9 IR R T TS ok BH
using the pressure cooker in the same T Tl ol off T T 21" Iw uiwan
manner”. This process is known as : RN T :

(A) Specialisation (A) fafreiemo
(B) Deconcretisation (B) SR _
(C) Pervasiveness (C) AT
(D) All of the above (D) S9lEa |

85. Rahul bought 10 books at the rate of ~ 85. g 7 T80 I W H 10 &%, T3 H WA
T 80 each, 16 pencils at the rate of T 3 16 9faeT qa T 5t X Q15 W9 '@flﬂ'[, ar
each and 15 pens at % 5 each, then average Tt aﬁ@ﬁ ED fau 3irga Sima B
price of all the goods is :

(A) %2515 (A) T 2515
(B) ¥ 2251 (B) 2251
(©) T 2315 (© T 2315
(D) % 27.18 (D) ¥ 27.18

86. A process which proves a statement in 86. Ut ufshan St foreht e =1 wft feurferadt &
all circumstances is : fog =Y, Feam ¥ :
(A) Deductive conclusion (A) frmf T
(B) Inductive conclusion (B) ek
(C) Probability (C) et
(D) Analysis (D) Tergeiwor

87. What must be added to each term of the 87. wEEEenfe®3:5 3@ 1A & T3 H g
ratio 3 : 5 so that it may equal to H S T ST 5 ¢ 7 &, B
5:77
(A) 13 (A) 13
(B) 8 (B) 8
© 15 ) 15
(D) None of these (D) 99 9 *iE Tl

SPACE FOR ROUGH WORK / 1% &Td & ol Sg
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88.

89.

90.

By solving the mathematical problems
which of the following mental efficiencies
will develop in an individual ?

(A) The efficiency to find the patterns
and relations

The efficiency of expressing the

(B)

things in an articulate manner

©

The efficiency of thinking in a

reasonable and sequential manner
(D) All of the above

The median of an equilateral triangle is
5 3m. The area (in m?) of the triangle
is :
(A) 1643

(B) 183

(C) 2543

(D) None of these

The pair of numbers which are relative
prime to each other is :

(A) (21, 24)

(B)
(C) (78, 52)

(25, 72)

(D) (26, 117)

88.

89.

90.

i weAl 1 ga o 9 fed safe d
Freqfafed § @ S O s aTHa
forenfera Bt € 2

(A) el 3R e w1 e T e

(B) U= Tl § e A HI &HA

(©) A o s T § G
&HdAT

(D) ST |t

T THag s W A 543 H. g @
19 1 e (a . H) &

(A) 1643

(B) 183
253

T | 1S T

©

(D)

gETs ®1 a8 T S G AT g
UIE

(A)
(B)
©)
(D)

(21, 24)
(25, 72)
(78, 52)

(26, 117)

SPACE FOR ROUGH WORK / T% &t & for& g
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91. Which of the following statements 91.

indicates rote learning ?

Trfafag wem o 9 forgent waae ‘@'’
®?

(A) Children asking elders to repeat the (A) o= GRS § IR-9R HEE SRl
story. HeAl |
(B) Children repeating any known facts (B) o= gRI fohelt St ont Tt ol
in a mechanical manner. Y ‘
(€) Children répeating any known facts (C) o= g1 fohel SIFRT 1 STelT—3TerT
in different manner. GG
(D) All of the above (D) ST wt |
92. Letx=1323232...,thenxinrationalform 92, 3fg x=1.323232.... & @ x & f=enes &9
is: g
131 131
(A 39 (A) 59
121 121
B) 5o B) 39
201 201
© 59 ©) 29
102 1m
®) 39 @) S
93. Find the area of a square inscribed in a 93. =69 I q?{'q'{av-n Sqatt &1 AR
circle of radius 6 cm. Bkl
(A) 144 sq. cm (A) 144 =7 o+t
(B) 72sq.cm (B) 727 |+t
(C) 18sq.cm (C) 185 &t
(D) None of these (D) T 9 B3 T8l
SPACE FOR ROUGH WORK / 1% &8 & fod S8
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94.

95.

96.

Ram sold a bike to Rahul at a profit of 94,

30%. Rahul sold this bike to Ashish at a
loss‘of 20%. If Ram paid ¥ 5,000 for this

‘bike, then find the price of bike for Ashish.

(A) 5,200
(B) T 6,400
(C) 7,300

(D) % 8,000

Elementary schooli mathematics are 95

learnt :

(A) By material representation
(B) By symbolic representation
(C) By pictorial representation

(D) By mental representation

WXM"’%‘I is equal to : 96.
(Ay 130

(B) 74

(C) 82

(D) None of these

T X TG i 30% TN T AI-TEehe] S|
TEA A 20% B W SH HE-AEHSA Bl
9N F d=| AfE A 7 HR-UESA 5
far 2 5,000 few, @t omEfiw & fag
Tel-HEshel 1 T 8

(A) %5200
(B) ¥ 6,400
(C) 7,300

(D) ¥ 8,000

e Tpett U Hie S €

(A) 3 e g’

(B) Wichfaeh freaur gra
() oA Fream gr
(D) wHEeh g g

32197x§/§13+§/6—4w%§
(A) 130
(B) 74
© 82

(D) T 9 i T

- SPACE FOR ROUGH WORK / T® wd & s
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97.

98.

99.

The least perfect square number which is
divisible by numbers 4, 5, 6 and 8 is :

(A) 14400
(B) 15200
(C) 13400

(D) 1440

Which of the following learning models
is related to interaction among the
children ?

(A) Banking model
(B) Programming model
(C) Constructivist model

(D) All of the above

A man goes from Bombay to Goa at a
uniform speed of 30 km/hr and comes
back to Bombay at a uniform speed of
50 km/hr. His average speed for the
whole journey is :

97.

98.

99.

g =AqH 01 o1 i HE s w4, 5,6
M8 | fawifea drar &, am -

(A) 14400
(B) 15200
(C) 13400

(D) 1440

= feu T 9@ & 9 9 wied 9= @)
TER 37q:fen @ deifua 22

(A) S Oied
(B) HrnfH Aied
(C) TEAEE Hisd
(D) SS9 g+t

T Af T 9M i 30 foht /wver § s
q mMar Sar € 991 s gHie ufd
50 ferelt/ e & o) arow ot ¥ 39 @
i o 39kt 3Tra =t Bt

(A) 325 (A) 325
(B) 345 (B) 345
(C) 285 (C) 28.5
(D) 37.5 (D) 37.5
SPACE FOR ROUGH WORK / T% & & f&d sg
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100. What is correct under banking model in

101.

the context of teaching mathematics ?

(A) Asking the students to solve
repeatedly those questions or the
similar questions which have been
solved in the class

(B) Ata time only one type of question
to be given to the children

(C) On a planned concept asking the
students to verify it by an activity

(D) None of the above

When will you say that children have
now got some conceptual knowledge ?

(A) After having the knowledge of

learning process.

(B) Using learnt procedural knowledge

in different circumstances.

(C) After having the name of the
concept and its definition.

None of the above.

100. T g ¥ e # fdhw wiew % wwd W@

101.

g

(A) e H HAC T A H A S S
el Sl TR-9R & FHA |

(B) == B Th o W TH & R &
aTe 3|

(C) T TR TR Ao SHIR Tfafafy
% BRI BEEA HUAT |

(D) S H | g T |

Fd il [ T FO-5S SFAURTHS JH
7o R feg § 2

(A) FrEn i 9fR 1 9 W

(B) H@ gu yfEaTs I ® fafv=
il § @ 3 W

(C)  STEHRO 1 A & URA ST R |

(D) ST § | AE T |

SPACE FOR ROUGH WORK / T &t & fo& <
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102. “Children have the capacity to form an  102. ‘‘&=i o fHRT H fomR s &t 21 sTaemumnsii
idea in their mind or to establish relations & o9 T H9Y 991 T gEA e 21’0 W
between concepts”. Which of the & Sl HiEd % B § Hed § e TR
following model does not find place in T g ?
above learning capacity of the children ?

(A) Banking and programming model (A) T iR dRnfhT wiee |

(B) Banking and constructivist model (B) ST SR @R Aige |

(C) Programming and constructivist (C) HrnfHT 3R AR Hied |
model

(D) 'None of the above (D) SR # w7

103. In mathematics, why the symbols are  103. TfOrd # Weitehl < farega T o 71 SR 2

used very widely ?

(A) To abridge mathematics (A) iU T Hie wE

(B) To distinguish mathematics (B) TIfUIG i TI HTAT

(C) Make mathematics a powerful (C) T < Weh DifeRTomTet HeR HTes S
medium of communication

(D) All of the above (D) I Teft

104. The purpose of evaluation is : 104. 3TheH & 3%?'5[ g
(A) To guide the learning process (A) HiEa & 9isan 1 AR S
(B) To centralise the learning process (B) Hi@H I wfshan sl hfsd HT|
(C) To improve the learning process (C) HirEn =t yfshan 1 3T s |
(D)  All of the above (D) ST At |

‘ SPACE FOR ROUGH WORK / 7% &/ % o sig
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105.

106.

107.

If 13% of x is 117, then the value of x is :
840
(B) 780
900

981

The perimeter of a triangle is 36 m and its
sides are in the ratio of 2: 3 : 4. The area
of the triangle is :

(A) 216 m?

(B) 124/15m?

(C)  107+/2m?

(D) None of these

A train is moving at a speed of 80 km/h
and covers a certain distance in 5 hrs. The
speed of the train to cover the same
distance in 8 hrs is :

(A) 50 km/h
(B) 65 km/h
(C) 48 km/h

62 km/h

105.

106.

107.

I x W 13%, 117 %, T 2 1 7 B e
(A) 840
(B) 780
(C) 900

(D) 981

e TSt 1 IR 36 . ¥ e W e
2:3:4% 3qua ¥ § @ By w1 &era
B
(A) 216 Ht.2

(B) 12415 .2

(C) 10742 #i.2

(D) T | i T

T 3 80 farelt/sver ) =T W T W e W
% Fifvem < @@ w1 H 5 50 T ¢
3 g0 H 8 T W 7@ FA h T A
W'@I’fﬁ:

(A) 50 Teret/ et
(B) 65 T/ =va
(C) 48 Temdt/ e

(D) 62 Teret/=roa

SPACE FOR ROUGH WORK / % &Td & fad sg
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108. The value of expression 3x2+4+2—1 108, THH 3X2+4+2-1H WA :
is :
(A) 4 (A) 4
B 8 (B) 8
€ 10 () 10
D) 7 (D) 7
109. Which of the following concept can be ~ 109. = & T foy staamen 1 sty S99
deconcretised by a solid example ? IR § T Fehdl § ?
(A) Point (A) fog
(B) Line (B) Y@
(€) Ray (C) f&m
(D) Circle (D) i
110. An amount will double itself in 8 yearsat ~ 110. 3 #1E uf¥r 8 o F fofet T | WuRw =1
a certain rate of simple interest per TR O SR B St @, < = 1 anffeh &
annum. The rate of interest per annum B
is :
10 1 % A 10~1—‘7
(4) 105% (4) 105%
1, 1,
(B) 85 % (B) 85 %
1, 1,
© 97% © 9%
1 1
1, 12-%
(D) 12 5 % (D) >
SPACE FOR ROUGH WORK / T% &Td & fod sre
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PART -5

ENVIRONMENTAL STUDIES

111.

112.

113.

114.

Which of the following is required for the
development of knowledge ?

()
(B) Concept development
(C) Research and validation
(D) All the above

Experience

Grass — Grasshopper — Frog — Snake
— Vulture

Above food chain is an example of which
of the following ?

(A)
(B) Parasitic food chain

Predator food chain

(C) Saprophytic food chain
(D)

None of the above

Which of the following is not a
characteristics of Activity ?

(A) Mental effort
(B) Active participation of child
©)
(

D) Nature is interesting

No element of challenge

Which of the following components

constitute Natural Environment ?
(A) Abiotic component
(B) Biotic component

(C) Both (A) and (B)
(

D) Social component

111.

112.

113.

114.

HIT -5

T i & et & | forwent sTrErearshan it
g2

(A) egHe

(B) TR fek

(C) ST qAT HAIH

(D) ST |4l

= — feg o Hew — | — 59

I @ HEer 7= § 9 foreeh SR
g2

(A) e T e

(B) USHEl @ et

(C) Fadsira Te et

(D) ST H | FE T&

et o § i fafafy ) fordoan =& €2

(A) AHYHS T

(B) o= i WiHA HAed
(C) TR e T el
(D) Wi feerees &t @

WigpTaren water et § | fore wreenl | et
A ?

(A) STifers =eh

(B) Sifa® w<h

(©) (A) T (B) S

(D) HHISF s=e&h

SPACE FOR ROUGH WORK / T% @14 & fo&l s'@
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115. Which of the following disease is caused 115. =9 9 9 =9 U7 919 qcil 1 FH S Bl
due to Nutritional deficiency ? 22
(A) Polio (A) dfa
(B) Malaria (B) AT
(C) Dengue (@) é‘ll
(D) Anaemia (D) Tt
116. Which of the following is a type of 116, 758 & Frewer %1 Yoy £ § @ v 2a
representation in maps ? 2
(A) One dimension (A) TH fad=g
(B) Two dimension B) fsfada
(C) Three dimension (C) ifara
(D) Multi-dimension (D) wgfereta
117. Which of the following difference 117. = ¥ 9 991 AW 99 & 593 9 9T
separates Maps from Picture ? FHET T ?
(A) Outlook (A) o
(B) Scale (B) YmF
(C) Type of representation (C) T&9m =1 YR
(D) All the above (D) SR |t
118. Right use of instruments is associated 118. TITEL0 3749 e &l Yfshan & TR0
with which of the following outlook in o1 TE ST e 1 9 g gftesn @ weifa
process of Environmental Studies 22
learning ?
(A) Information based outlook (A) TR STenRia gfteenmo
(B) Concept based outlook (B) STIYRUN TTHIRA gheah
(C) Skill based outlook (©) Hive enenfia gfemni
(D) Value based outlook (D) Hea snefa gftemno
SPACE FOR ROUGH WORK / T® &Td & fad g
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119.

120.

121.

122.

Cause of Fluorosis disease is :
A) Deficiency of Fluoride
B) Absence of Fluoride

)
) Excess of Fluoride

O

(
(
(
(D) All the above

Children come to know about which
environment by different seasons ?

(A)
(B) Social

Natural

(C) Cultural
(D) Economical

Which of the following is a man-made
Ecosystem ?

(A) Pond
(B) Cropland
(C) Grassland

(D) Deciduous Forest

Which aspect of environment is largely

seen in view of children ?

(&)
(B) Social

Physical

(C) Cultural
(D) Political

120.

fafvre saqell 3 e 9 o= ford qaterol
S AR E 2

aferenan feag °ft R 2

(D)

SPACE FOR ROUGH WORK / T& &Td & e s
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123. Which of the following is not an 123. T & 9 A nfafafy T& €2
activity ?
(A) Use of materials (A) SERft 1 ST
(B) Games (B) ©WdA
(C) Demonstration by Teacher (C) Toers g1 yewA
(D) Any experience (D) EIEEEIRRE!
124. Which of the following are expectations 124, Y&TeRUT 27e9 UiswshA 9 = § @ At
of Environmental studies syllabus ? R €2
(A) Understanding of value (A) Tl I qALA
(B) Understanding of concepts (B) STHHRONSI i THH
(C) Information storage and skill (C) SRR 1 TIE T3 v Tk
development ‘
(D) All the above (D) Ul |t
125. Principle of constructivist is based on 125. AERE %1 fagra =1 9 9 forg 92 snanfRa
which of the following ? 2?2
(A) On observation (A) FIAHRA T
(B) On scientific studies (B) AFTH 3T W
(C) Both (A) and (B) (C) (A) T (B) I W
(D) On experience (D) STI9 W
126. Prohibition of Child Marriage ActinIndia  126. WRa H =7 foeme foy sifufrag feg ad
was implemented in : ] T ?
(A) 2006 (A) 2006
(B) 2007 (B) 2007
(©) 2008 (C) 2008
(D) 2009 (D) 2009
SPACE FOR ROUGH WORK / T% &r& & fed srg
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127.

128.

129.

130.

Which of the following is an advantage
of Joint family ?

(A) Better for children’s study
(B) Mutual adjustment

(C) Unity and discipline
(D) All the above

Amongst the following what is the main
objective of Project Work ?

(A) Theory teaching
(B) Practical teaching
(C) Capacity assessment

(D) Self evaluation

What is the role of teacher in learning ?
(A) Knowledge donor
(B) Guide

©
(D)

Motivator

Facility provider

Which of the following is not a reason of
spread of Intemperance in Society ?

A) Lack of education

(
(B) Open sell of Intemperance materials
(

0

)  Modern culture

(D) Deaddiction centre

127.

128.

129.

130.

e & | S Sge IRaR w1 A1 72

(A) = ol SEA T
(B)  STUH HHIESH
(C) TohaT TS ST
(D) JuT |t

o T FE wH 1 TE 3w T H 8
FHY?

(A) Jgif=ren e
(B) wrIfien faero
(C) &5 =T 3T

(D) E-HeAihT

e o et w1 wfirht @ Bt § 2
(A) ST

(B) Wric¥e

© I

(D) HfaEmRw

TS H @R e %1 SR e A
T R?

(A) Toam =1 %t

(B) Tem Gaitlt warell et GetatA ferhl
(C) e WA

(D) emgfE F

SPACE FOR ROUGH WORK / T® @td & fad e
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131.

132.

133.

PART - 6

COMPUTER RELATED TO
GENERAL KNOWLEDGE

Which shortcut key is used to search a
document in MS Word ?

(A)
(B)
(©)

Ctrl + N
Ctrl + S

Cal+W
(D) Ctrl+F

Which of the followings is/are example
of computer ?

(A)
(B)
©)

Desktop

Laptop

Both (A) and (B)
None of the above

(D)

Which one of the following is not a search
engine ?

(4)
(B)
©)

Google
Bing
Yahoo

(D) Stack Overflow

131.

132.

133.

T - 6
ST ol | A=

forg wiiéhe el 1 ITAM w9 §
lerpie we w1 % o feren e 2

(A) Ctl+N
(B)
©
(D)

Ctl+S
Ctl+ W

Cul+F

ﬁﬂ%ﬁﬁﬁwwwﬁ/ﬁz

(A) SwRel
(B) UM
(C) (A) 3R (B) Tl

(D) S # F HIE T

frfafaa § 4 A T O SRR

(A) Google

(B)
(C) Yahoo

Bing

(D) Stack Overflow
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134.

135.

136.

What is the full form of VIRUS ?

(A) Vitalise Information Resources
Under Siege

(B) Vital Informational Resources
Under Siege

(C) Vital Information Resources Under
Siege

(D) Vital Information Resources

Undead Siege

Which one of the following Website is not
related with Chattisgarh Government ?
(A) www.nitrr.ac.in
(B) www.cgbse.nic.in

(C) www.cspdcl.co.in
www .bhuiyan.cg.nic.in

(D)

Which one of the following is not a
non-impact printer ?

(A) Inkjet

(B) Daisy-wheel
(C) Laserjet

(D) Solid ink

134. VIRUS %1 I0f €9 ¥ § 7

135.

136.

(A) Vitalise Information Resources
Under Siege -

(B) Vital Informational Resources
Under Siege

(C) Vital Information Resources Under
Siege '

(D) Vital Information Resources

Undead Siege

frefefga o 9 #1E T JaERe SUHIS

TR § Heifed 78 ©

(A) www.nitrr.ac.in

(B) www.cgbse.nic.in

(©) www.cspdcl.co.in

(D) www.bhuiyan.cg.nic.in

Frefafed o | ®E & F-seee et T8
y

(A) THSE

(B) SSI-=a
(C) W
(D) wifae &
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137. Which one of the following is not a 137. frafafad § @ HE T HHEA AT

Commercial Operating System ? frea @ g :
(A) Fedora (A) w2
(B) MAC Os (B) T f.TH.
(C) MS Windows (C) www. fae=
(D) IBM's AIX (D) STE..TH. 1 T,37TE. T,
138. What is the full form of MMS ? 138. MMS 1 J0f ®9 &1 § 2
(A) Multimedia System (A) Multimedia System
(B) Multimedia Messaging Service (B) Multimedia Messaging Service
(C) Multimedia Messaging System (C) Multimedia Messaging System
(D) Multimedia Services (D) Multimedia Services
139. A Gigabyte is equal to : | 139. T& ThmeEe o SRIER Bl ¥
(A) 1024 Megabyte (A) 1024 WSS
(B) 1024 Kilobyte (B) 1024 fwaireze
(C) 1024 Terabyte (C) 1024 <T@
(D) 1024 Byte (D) 1024 TS

140. Choose odd one out with reference to 140. HTI ITHRT & deH H faum &l g+ |

computer devices.

(A) Plotter (A) AR
(B) Monitor (B) I
(C) Scanner (C) W
(D) CPU (D) iy,
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141.

142.

143.

144.

PART -7
GENERAL KNOWLEDGE

How many reserve of iron ore are present
in Bailadila ?

(A) 14

(B) 16

() 18

(D) 20

Sea with maximum salinity is :
(A) Red Sea

(B)
©)
(D)

Mediterranean Sea
Baltic Sea
Dead Sea

How many five year plans are completed
in India ?

(A) 11

(B) 12

€ 13

(D) 14

In which of the following session the
Congress was split in two groups -
Moderates and Extremists ?

(A) Surat

(B) Ahmedabad
(C) Nagpur

(D) Faizabad

141.

142.

143.

144.

HAT -7
AN AT

Yenfeen B oig o7uwk & foraq g €2

(A)
(B)
©)
(D)

o Tk e ST W €
(A) WA R

(B) eI WIR

(C) difeesh AR

(D) ¥ ER

e & fepert et Ao ol g8 ¥ 2

(A) TERE
(B) ®I®
©) @
(D) <iIcE

fraffen & @ frg wfudem § w09
TRl - T T T TR g H i g8 2
(A) qW
(B) STEHSIETR
(C) A
(D) W]
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145. Whete is Pygmieés habitat ?
(A) Amazon basin

(B) Kongo basin

(C) Ganga basin

(D) Mississippi basin

146. Which formula of Per Capita Income is

correct ?

( A) Per Capita Income = Gross National Income

Population

(B) Per Capita Income = Net-National Income

Population

Gross Domestic Product

(C) Per Capita Income =
Population

Net Domestic Product

(D) Per Capita Income =
Population

147. Approximately how much percent of the

145, TR} 1 FEmE 9 e §7

(A) S 9fEA
(B) =i afed
(C) TimafEd
(D) Thefifadt afem

146. FfaeAfo 3T 1 HITE B T& 8 ?

(A) e o = e

147. 39 9 & A Tord H § @S 9 o1

total revenue is obtained from minerals Terem wftrera T UTe S § 2
to this state ?
(A) 42% (A) 42%
B) 27% (B) 27%
(C) 32% (C) 32%

‘ (D‘) 30% ' (D) 30%

SPACE FOR ROUGH WORK / T% T 5 e
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148. The Shabari river of this state originates : 148. T8 T %l T[] 711 1 ST WM § :

(A) Nandpur Mountain (A) T e
(B) Sihava Mountain (B) Ta=man vEa
(C) Shivari Narayan (C) Tl
(D) Samaripat (D) WU

149. During the Viceroyalty of who of the  149. Trfafaa ¥ 9 fras Tt w6 § oma

following the Partition of Bengal was 1 faurs swrifea foan man 2

executed ?

(A) Lord Lytton (A) @i fearea

(B) Lord Curzon (B) I HsHA

(é) Lord Irwin (C) i stfeom

(D) Lord Wavell (D) i€ a9@

150. Labrador current flows in : 150. WSIESR STAYRT Yafed el € :

(A) North Atlantic Ocean (A) W HY AR

(B) South Atlantic Ocean (B) =& 37y AR

(C) West Pacific Ocean (C) Ui¥=m Y= HeFR

(D) East Pacific Ocean (D) Y& WRIT HERIFR
-000- -00o0-
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SET - A
I HfHa HH RTEAT : 3 WS } { fermaw 3@ : 150
Time for marking answers : 3 Hours Maximum Marks : 150
e :
1. 39 Yo-YRehl § =1 ot € e
(1) o foee we foen wre 30 3%
2) wm= T 25 3%
(3) R SIS 25 3%
(4) T 30 3%
(5) AR 1A 20 H
(6) HPIE HeHl WHT 10 3%
(7) W AH | 10 &%

T YU 1 Sk 1 71 Wt 7vA A siframd €1
2. T % IW, & T OMR IW-¥Me (3MaRie) R ifwa wifvg|
3.  TToTd 3O 3ifehd I WX 1/4 3k h1e SR |
4. et oft T F FoPerer a1 AR o Td HISEe B T FERT afsid § |
5

OMR SWR-¥M1T (TEWE) F FAM A I TH HIE STAEYH 7 L/ I 5641 I8 ® T A1
I e 1 faetae o1fs us 90 f9ad oy 98 T B 9 |

Note :

1.  This Question Booklet contains of Parts namely :
(1) Child Development and Pedagogy 30 Marks
(2) General Hindi 25 Marks
(3) General English ’ 25 Marks
(4) Mathematics 30 Marks
(5) Environmental Studies 20 Marks
(6) Computer Related to General Knowledge 10 Marks
(7) General Knowledge 10 Marks

Each question carries 1 mark. All questions are compulsory.

2.  Indicate your answers on the OMR Answer-Sheet provided.

3. 1/4 mark will be deducted for each wrong Answer.

4.  Use of any type of calculator or log table and mobile phone is prohibited.

5.  While using OMR Answer-Sheet care should be taken so that the OMR Answer-Sheet does
not get torn or spoiled due to folds and wrinkles.
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